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Topic Name:Chemistry-Section A

ItemCode:1968
Question: 3d (XIS &Tg T1< STLAHG M2/ M /I R EG [0 TR, X4 -

A Cr
B Fe
C Cu
D Zn
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Topic Name:Chemistry-Section A

ItemCode:1969
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Question:qwl [W“ﬁl’ﬂs FSHI Eu, 63: Sm. 62: Tm, 69: Th. 65 : Yb, 70; Dy, 66]

A Eu’” O Tm?"
B Sm’ ¥ Tm’~
C Tb* &I Yb2©

D Dy’ W Yb*~
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Topic Name:Chemistry-Section A

ItemCode:1970
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ST Mn = 25: Fe = 26)

A [FeF >~

B. [Fe(CN)g]*~

C. [L-111C16]3_ (high spin)
D. [Mn(CN)g]*~
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A A<B=D=(C
B B<D=(C<A
C A<C<D<B
D B<D<A<C
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Topic Name:Chemistry-Section A
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Question: I L0 [RIFaS T B W C | TUFCT A, B T C T7-

A HOCIL HNO;, Cl,

B Cl,. HNO;, HOCI

C HCIO,. HNO,. HOCI
D HOCLHNO, CLO
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Topic Name:Chemistry-Section A

ItemCode:1972
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Topic Name: Chemistry-Section A

ItemCode:1973
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n—CsH;{Cl

(i) Lindlar cat. H

n—Bu—=
Question:

A n-Bu
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Topic Name:Chemistry-Section A



ItemCode:1974
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(a) Br:.Fe

Ethvlbenzene - 'A'
- (©)Cl;, A .
Question: (clalc Kol  Major Product
A (|‘1
C=CH,
BW
C=CH,
=
I
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Br
D  CH=CH,
Br
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Topic Name:Chemistry-Section A
ItemCode:1975
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A A-IV, B-III. C-II. D-I
B A-IV.B-III C-1. D-II
C A B-II, C-1. D-IV
D A-IV, B-II. C-III, D-I
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Topic Name:Chemistry-Section A




ItemCode:1976
GIRAR (IS ARG C4H;(NH,),COOH T AT T8 RI0! T4
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Question: G2a4] *C’ | Glo&<] ‘C'd N GLIREEG]

A 63°C
B 90°C

C 104°C
D 142°C
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Topic Name:Chemistry-Section A

ItemCode:1977
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Topic Name:Chemistry-Section A
ItemCode:1978
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Topic Name:Chemistry-Section A
ItemCode:1979
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A AL B-L. C-IL. D-IV
B A-IIL B-I. C-IV, D-II
C A-1.B-IV. C-II. D-III



D A-IL B-III. C-II. D-IV
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Topic Name: Chemistry-Section A

ItemCode:1980

SIfFTHT - 1 F SIfeThT - 11 3 C0S (e 341

SIfeTT I SIfeT<pT 1T
(T H,50, 3 A9rs [ Fwre f5fs T41 (1)

A.CO.- I IR (5 [T (71 ATRUGE SIorGy el
FE|

B s* 11. II=RIW (978 (Y ABeTe AGIzay
GIZZING §9 OTOG B

C. S0, 111, 5 o Rty afpoge 86 49 K1 5
= S|

D.NO, IV, IR (97g (03 92@ =311 ¢5rs [y
BT SIS ALd LA
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A A-II B-L C-IL D-IV
B A-II B-I. C-IV, D-IIT
C A-IV.B-I C-III, D-IT
D A-IV. B-I. C-II. D-ITI
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Topic Name:Chemistry-Section B

ItemCode:1981
46T AT 116 ¢ R[OOI RIET 1gs M 7.5 ¢ TRGUGA. 60 ¢
TG W 48.5 ¢ BN | 7 Mg AINIRF OIH 0o WF € 7

JAIEFCH 1. 16, W 12| A2 (AT 16 A g i 5|
A. CH;COOH

B. HCHO

C. CH;00CH,

D. CH,CHO
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Topic Name:Chemistry-Section B

ItemCode:1982
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Al 3 3 —3

B. 3 2 =3

e 2 1 +1

D. 2 2 +2
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Topic Name:Chemistry-Section B



ItemCode:1983
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Topic Name:Chemistry-Section B
ItemCode:1984
CafeTT 5 T 2T (91% 300 K © STH1ER O A@l<Es ®EEW 1019
S{J1 20 L (51 2711 T, TR FAE 1= 26 7 | ((RFGew

Question: 'S FT) (M3 SCZ R = 8.3 I K~ mol ™! W1 log 2 = 0.3010)
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Topic Name:Chemistry-Section B
ItemCode:1985
2.5 % 107 kg BIRT AT 46T B 373.535 K S OOEARI A 75 < 10° kg &
BEG R 3 (R SIE R GIE SCE | g mol !
((NEGeN T2e Jeym)

Question: (P DR Ky (H,0) = 0.52K kg mol™ [ 1T GOeTlsS = 373.15 K)
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Topic Name:Chemistry-Section B
ItemCode:1986
0.001 M NaOH T4 pH 9 ¥« =2+ |
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Topic Name:Chemistry-Section B
ItemCode:1987
(IO (ZEI [ AEE FECT
Pt (s) Hy (g)H (aq) || Ag™(aq) |Ag (s):
E° o= +0.5332 V.
ArGE I W =4 kI mol ! (NFGON B4 3:4)
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Topic Name:Chemistry-Section B

ItemCode:1988
GB!I RiEaE Crae G257 ¢71E1 oS (19 K Tasl 39 oicsl oiiel oife $3<
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Question: (T T In 10=2.3, R=8.3 IK™" mol™", log 2 =0.30)
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Topic Name:Chemistry-Section B

ItemCode:1989
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log p
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Topic Name:Chemistry-Section B

ItemCode:1990
I AT 0.25 ¢ F.461 (G (912 (SRR [Mwome Mg 0.40 ¢ fero
FARG | CTINETS N HIRTF =019 X7 | [NFoow DY
ALY

Question: (2T &MR: Ag T HMTWEEF ©F 108 g mol™! T €1 35.5 g mol )




